POS NO. SPARE PART DESCRIPTION pCS ITEM NO.

Towel bar traditional 61,4 cm G-19408T* 5775080
1P |Body P towel bar 2 |5791310
1F  |Knurled body F towel bar 2 |5791260
1Q |Knurled body Q towel bar 2 5791210
1D |Knurled body towel bar D 2 |5781710
4 Bar 13 L=608 1 15111520
5 Base T round no. 41 2 |5781650
6 Top Sleeve Fi30 T 2 |5781390
7 Mounting Plate Fi 35 2 |2876010
8 Plug fi25 2 |5781340
9 Screw M5x20 1SO-4026 2 9903295
10 |Screw 4x35 A2 DIN 7997/9100 4 19903204
11 Expansion bolt 6x30 4 19903285
12 |Screw M4x10 PN-EN ISO 4027 4 19903158
13 |Screw M4x10 ISO 7046 4 19903367
14 |OR 22x2 2 9916245
15 |Screw M3x6 1SO 7046 4 19903354




